

## WEAK CO- $T$ -COFIBRATIONS AND HOMOLOGY DECOMPOSITIONS

YEON SOO YOON\*

ABSTRACT. In this paper, we define a concept of weak co- $T$ -cofibration which is a generalization of weak  $H'$ -cofibration, and study some properties of weak co- $T$ -cofibration and relations between the weak co- $T$ -cofibration and the homology decomposition for a cofibration.

### 1. Introduction

Eckmann and Hilton [2, 4] introduced a homology decomposition of 1-connected polyhedron as a dual concept of Postnikov system. Moreover, Eckmann and Hilton [3, 4] and Moore [5] introduced, as a generalization of this notion, the notion of the homology decomposition of a map. On the other hand, Tsuchida [7] introduced, as an intermediate notion of the above two decompositions, a notion of the homology decomposition for a cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$ . If  $B$  reduces to a point, then such a decomposition reduces to the usual homology decomposition for  $X$ . Tsuchida [7] introduced the notion of weak  $H'$ -cofibration as a generalization of the induced cofibration or  $H'$ -cofibration defined in [6], and studied the relations between the weak  $H'$ -cofibration and the homology decomposition for a cofibration.

In this paper, we define a concept of weak co- $T$ -cofibration which is a generalization of weak  $H'$ -cofibration, and study some properties of weak co- $T$ -cofibration and relations between the weak co- $T$ -cofibration and the homology decomposition for a cofibration. If an (inclusion) cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  is obtained by applying the suspension functor  $\Sigma$  to an (inclusion) cofibration  $B' \xrightarrow{q'} X' \xrightarrow{p'} F'$ , then we obtain that

---

Received March 02, 2018; Accepted March 26, 2018.

2010 Mathematics Subject Classification: 55P45, 55P35.

Key words and phrases: co- $T$ -cofibration, homology decomposition.

This work was supported by Hannam University Research Fund during research year 2017.

there is the homology decomposition  $\{X_n, F_n, i_n, j_n, p_n, q_n\}$  for  $B \xrightarrow{q} X \xrightarrow{p} F$  such that  $B \xrightarrow{q_n} X_n \xrightarrow{p_n} F_n$  is a weak co- $T$ -cofibration for each  $n$ . Moreover, if  $B \xrightarrow{q} X \xrightarrow{p} F$  is an weak co- $T$ -cofibration and  $Y$  is a co- $T$ -space with co- $T$ -structure  $\mu$  and  $f : Y \rightarrow X$  is a coprimitive, and  $X \xrightarrow{i} C_f \xrightarrow{\pi} \Sigma Y$  is an induced cofibration via  $f$ , then we obtain that  $B \xrightarrow{iq} C_f \xrightarrow{\bar{p}} C_{pf}$  is a weak co- $T$ -cofibration.

Throughout this paper, space means a space of the homotopy type of 1-connected locally finite  $CW$  complex. We assume also that spaces have non-degenerate base points. All maps shall mean continuous functions. All homotopies and maps are to respect base points. The base point as well as the constant map will be denoted by  $*$ . For simplicity, we use the same symbol for a map and its homotopy class. Also, we denote by  $[X, Y]$  the set of homotopy classes of pointed maps  $X \rightarrow Y$ . The identity map of space will be denoted by 1 when it is clear from the context. The diagonal map  $\Delta : X \rightarrow X \times X$  is given by  $\Delta(x) = (x, x)$  for each  $x \in X$ , the folding map  $\nabla : X \vee X \rightarrow X$  is given by  $\nabla(x, *) = \nabla(*, x) = x$  for each  $x \in X$ .  $\Sigma X$  denote the reduced suspension of  $X$  and  $\Omega X$  denote the based loop space of  $X$ . The adjoint functor from the group  $[\Sigma X, Y]$  to the group  $[X, \Omega Y]$  will be denoted by  $\tau$ . The symbols  $e$  and  $e'$  denote  $\tau^{-1}(1_{\Omega X})$  and  $\tau(1_{\Sigma X})$  respectively.

**2. Weak co- $T$ -cofibrations**

Let  $B \xrightarrow{q} X \xrightarrow{p} F$  be a cofibration and let  $f : Y \rightarrow X$  be a map. Let  $C_f$  (resp.  $C_{pf}$ ) denotes the space obtained by attaching the reduced cone,  $cY$ , over  $Y$  to  $X$  (resp.  $F$ ) by means of  $f$  (resp.  $pf$ ), i.e.  $C_f = cY \cup_f X$  (resp.  $C_{pf} = cY \cup_{pf} F$ ). Then  $F \xrightarrow{s} C_{pf} \rightarrow \Sigma Y$  is an inclusion cofibration and the following diagram is commutative;

$$\begin{array}{ccccc}
 Y & \xrightarrow{f} & X & \xrightarrow{p} & F \\
 \iota \downarrow & & i \downarrow & & s \downarrow \\
 cY & \xrightarrow{k} & C_f & \xrightarrow{\bar{p}} & C_{pf},
 \end{array}$$

where  $\iota, k, i$  and  $s$  are inclusion maps and  $\bar{p}$  is defined by  $\bar{p}([y, t]) = [y, t]$ ,  $[y, t] \in cY$  and  $\bar{p}(x) = p(x)$ ,  $x \in X$ . Since  $\bar{p}([y, 1]) = [y, 1] = pf(y)$  and  $\bar{p}(fy) = p(fy)$ ,  $\bar{p}$  is well defined. Thus it is obtained [7] that  $B \xrightarrow{iq} C_f \xrightarrow{\bar{p}} C_{pf}$  is a cofibration. A homology decomposition for

a cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  consists of a sequence of spaces and maps  $(X_n, F_n, i_n, j_n, q_n, p_n)$  satisfying

- (I)  $X_1 = B, j_1 = q, q_1 = 1$ .
- (II)  $B \xrightarrow{q_n} X_n \xrightarrow{p_n} F_n$  is an inclusion cofibration.
- (III)  $q = j_n q_n : B \xrightarrow{q_n} X_n \xrightarrow{j_n} X$ .
- (IV)  $X_{n-1} \xrightarrow{i_n} X_n \rightarrow K(H_n(F), n)$  is an inclusion cofibration ( $n \geq 2$ ), where  $i_2 = q_2$ .
- (V) maps  $q_n, j_n$  induce the following; (1)  $(j_n)_* : H_r(X_n) \xrightarrow{\cong} H_r(X)$  for  $r < n$ , (2) In the sequence  $H_n(B) \xrightarrow{q_n^*} H_n(X_n) \xrightarrow{j_n^*} H_n(X)$ ,  $q_n^*$  is a monomorphism,  $j_n^*$  is an epimorphism and  $\text{Im } q_n^* \supset \text{Ker } j_n^*$ , (3)  $q_n^* : H_r(B) \xrightarrow{\cong} H_r(X_n)$  for  $r > n$ .
- (VI) (1) A map  $\bar{j}_n : F_n \rightarrow F$  induced by  $j$  induces  $\bar{j}_{n*} : H_r(F_n) \xrightarrow{\cong} H_r(F)$  for  $r \leq n$ , (2)  $H_r(F) = 0$  for  $r > n$ .

It is known [7] that there exists a homology decomposition for an inclusion cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$ .

A cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  is called a *weak  $H'$ -cofibration* [7] if there exists a map  $\theta : X \rightarrow F \vee X$  and a homotopy  $H_t : X \rightarrow F \times X$  such that

$$\begin{array}{ccc} B & \xrightarrow{i_2} & F \vee B \\ (a) \downarrow q & & (1 \vee q) \downarrow \\ X & \xrightarrow{\theta} & F \vee X, \end{array}$$

is homotopy commutative, where  $i_2$  is the injection into the second factor. (b)  $H_0 = j\theta$  and  $H_1 = (p \times 1)\Delta$ , where  $j : F \vee X \rightarrow F \times X$  is the inclusion.

Let  $Y$  be a co- $H$ -space with co- $H$ -structure  $\mu : Y \rightarrow Y \vee Y$  and let  $B \xrightarrow{q} X \xrightarrow{p} F$  be a weak  $H'$ -cofibration. Then a map  $f : Y \rightarrow X$  is called [7] to be *coprimitive with respect to co- $H$ -structure  $\mu$*  if

$$\begin{array}{ccc} Y & \xrightarrow{\mu} & Y \vee Y \\ f \downarrow & & (pf \vee f) \downarrow \\ X & \xrightarrow{\theta} & F \vee X. \end{array}$$

It is well known [7] that if  $f : A \rightarrow B$  is a map, then the induced cofibration  $B \rightarrow C_f \rightarrow \Sigma A$  via  $f$  is a weak  $H'$ -cofibration.

A space  $Y$  is called [8,9] *co- $T$ -space* if there is a map, co- $T$ -structure,  $\theta : Y \rightarrow Y \vee \Omega \Sigma Y$  such that  $j\theta \sim (1 \times e')\Delta$ , where  $j : Y \vee \Omega \Sigma Y \rightarrow Y \times \Omega \Sigma Y$  is the inclusion. Clearly, any co- $H$ -space is a co- $T$ -space.

DEFINITION 2.1. A cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  is called a weak co- $T$ -cofibration if there exists a map  $\theta : X \rightarrow F \vee \Omega\Sigma X$  and a homotopy  $H_t : X \rightarrow F \times \Omega\Sigma X$  such that

$$\begin{array}{ccc} B & \xrightarrow{i_2} & F \vee B \\ (a)q \downarrow & & (1 \vee \Omega\Sigma qe') \downarrow \\ X & \xrightarrow{\theta} & F \vee \Omega\Sigma X, \end{array}$$

is homotopy commutative, where  $i_2$  is the injection into the second factor.

(b)  $H_0 = j\theta$  and  $H_1 = (p \times e')\Delta$ , where  $j : F \vee \Omega\Sigma X \rightarrow F \times \Omega\Sigma X$  is the inclusion

DEFINITION 2.2. Let  $Y$  be a co- $T$ -space with co- $T$ -structure  $\mu : Y \rightarrow Y \vee \Omega\Sigma Y$  and let  $B \xrightarrow{q} X \xrightarrow{p} F$  be a weak co- $T$ -cofibration. Then a map  $f : Y \rightarrow X$  is called to be coprimitive with respect to co- $T$ -structure  $\mu$  if

$$\begin{array}{ccc} Y & \xrightarrow{\mu} & Y \vee \Omega\Sigma Y \\ f \downarrow & & (pf \vee \Omega\Sigma f) \downarrow \\ X & \xrightarrow{\theta} & F \vee \Omega\Sigma X. \end{array}$$

PROPOSITION 2.3. If a cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak  $H'$ -cofibration, then  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak co- $T$ -cofibration.

*Proof.* Since a cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak  $H'$ -cofibration, there exists a map  $\theta : X \rightarrow F \vee X$  and a homotopy  $H_t : X \rightarrow F \times X$  such that  $(1 \vee q)i_2 \sim \theta q : B \rightarrow F \vee X$  and  $H_0 = i\theta$  and  $H_1 = (p \times 1)\Delta$ , where  $i_2$  is the injection into the second factor and  $j : F \vee X \rightarrow F \times X$  is the inclusion. Let  $\theta' = (1 \vee e')\theta : X \rightarrow F \vee \Omega\Sigma X$ . Then we have, from the fact  $(1 \vee \Omega\Sigma q)(1 \vee e') \sim (1 \vee e')(1 \vee q)$ , that  $(1 \vee \Omega\Sigma(q)e')i_2 \sim \theta'q : B \rightarrow F \vee \Omega\Sigma X$ . On the other hand, let  $H'_t = (1 \times e')H_t : X \rightarrow F \times \Omega\Sigma X$ . Then we have that  $H'_0 = j\theta'$  and  $H'_1 = (p \times e')\Delta$ , where  $j : F \vee \Omega\Sigma X \rightarrow F \times \Omega\Sigma X$  is the inclusion. Thus we know that  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak co- $T$ -cofibration.  $\square$

PROPOSITION 2.4. Let  $Y$  be a co- $H$ -space with co- $H$ -structure  $\mu : Y \rightarrow Y \vee Y$  and let  $B \xrightarrow{q} X \xrightarrow{p} F$  be a weak  $H'$ -cofibration. If  $f : Y \rightarrow X$  is coprimitive with respect to co- $H$ -structure  $\mu : Y \rightarrow Y \vee Y$ , then  $f : Y \rightarrow X$  is coprimitive with respect to co- $T$ -structure  $\mu' = (1 \vee e')\mu : Y \rightarrow Y \vee \Omega\Sigma Y$ .

*Proof.* Clearly we know that  $Y$  is a co- $T$ -space with co- $T$ -structure  $\mu' = (1 \vee e')\mu Y \rightarrow Y \vee \Omega\Sigma Y$ . Moreover, we know, from Proposition 2.3, that  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak co- $T$ -cofibration. Thus we have that  $(pf \vee \Omega\Sigma f)\mu' \sim \theta' f : Y \rightarrow F \vee \Omega\Sigma X$ . Thus we know that  $f : Y \rightarrow X$  is coprimitive with respect to co- $T$ -structure  $\mu' : Y \rightarrow Y \vee \Omega\Sigma Y$ .  $\square$

**THEOREM 2.5.** *Let an (inclusion) cofibration  $B \xrightarrow{q} X \xrightarrow{p} F$  be obtained by applying the suspension functor  $\Sigma$  to an (inclusion) cofibration  $B' \xrightarrow{q'} X' \xrightarrow{p'} F'$ . Then there is the homology decomposition  $\{X_n, F_n, i_n, j_n, p_n, q_n\}$  for  $B \xrightarrow{q} X \xrightarrow{p} F$  such that  $B \xrightarrow{q_n} X_n \xrightarrow{p_n} F_n$  is a weak co- $T$ -cofibration for each  $n$ .*

*Proof.* In [7] Remark 5, the homology decomposition for  $B \xrightarrow{q} X \xrightarrow{p} F$  may be obtained by applying the suspension functor  $\Sigma$  to an (inclusion) cofibration  $B' \xrightarrow{q'} X' \xrightarrow{p'} F'$ , i.e,  $X_n = \Sigma X'_{n-1}$ ,  $F_n = \Sigma F'_{n-1}$ ,  $q_n = \Sigma q'_{n-1}$  and  $p_n = \Sigma p'_{n-1}$ . Now we define a map  $\theta : X_n \rightarrow F_n \vee \Omega\Sigma X_n$  to be the composite  $\Sigma X'_{n-1} \xrightarrow{\mu} \Sigma X'_{n-1} \vee \Sigma X'_{n-1} \xrightarrow{\Sigma p'_{n-1} \vee e'} \Sigma F'_{n-1} \vee \Omega\Sigma(\Sigma X'_{n-1})$ , where  $\mu$  is a comultiplication in  $\Sigma X'_{n-1}$ . Clearly we have the following homotopy commutative diagram.

$$\begin{array}{ccc} \Sigma B' & \xrightarrow{\Sigma q'_{n-1}} & \Sigma X'_{n-1} \\ e' \downarrow & & \Sigma e' \downarrow \\ \Omega\Sigma(\Sigma B') & \xrightarrow{\Sigma\Omega(\Sigma q'_{n-1})} & \Omega\Sigma(\Sigma X'_{n-1}). \end{array}$$

From the above fact and the definition of  $\theta$ , we have the following homotopy commutative diagram;

$$\begin{array}{ccc} \Sigma B' & \xrightarrow{i_2} & \Sigma F'_{n-1} \vee \Sigma B' \\ \Sigma q'_{n-1} \downarrow & & (1 \vee \Omega\Sigma(\Sigma q'_{n-1})e') \downarrow \\ \Sigma X'_{n-1} & \xrightarrow{\theta} & \Sigma F'_{n-1} \vee \Omega\Sigma(\Sigma X'_{n-1}). \end{array}$$

Thus condition (a) in 2.1 is satisfied.

Next we consider the diagram;

$$\begin{array}{ccc} \Sigma X'_{n-1} & \xrightarrow{\mu} & \Sigma X'_{n-1} \vee \Sigma X'_{n-1} \xrightarrow{\Sigma p'_{n-1} \vee e'} \Sigma F'_{n-1} \vee \Omega\Sigma(\Sigma X'_{n-1}) \\ & \searrow \Delta & \downarrow j \\ & & \Sigma X'_{n-1} \times \Sigma X'_{n-1} \xrightarrow{\Sigma p'_{n-1} \times e'} \Sigma F'_{n-1} \times \Omega\Sigma(\Sigma X'_{n-1}). \end{array}$$

Since  $j\mu \sim \Delta$ , we have  $j\theta = j(\Sigma p'_{n-1} \vee e')\mu \sim (\Sigma p'_{n-1} \times e')\Delta = (p_{n-1} \times e')\Delta$ . Thus condition (b) in 2.1 is satisfied.  $\square$

**THEOREM 2.6.** *Let  $B \xrightarrow{q} X \xrightarrow{p} F$  be a weak co- $T$ -cofibration,  $Y$  a co- $T$ -space with co- $T$ -structure  $\mu$ ,  $f : Y \rightarrow X$  coprimitive, and  $X \xrightarrow{i} C_f \xrightarrow{\pi} \Sigma Y$  an induced cofibration via  $f$ . Then  $B \xrightarrow{iq} C_f \xrightarrow{\bar{p}} C_{pf}$  is a weak co- $T$ -cofibration.*

*Proof.* From [7] Lemma 2.1,  $B \xrightarrow{iq} C_f \xrightarrow{\bar{p}} C_{pf}$  is a cofibration and so it suffices to show that conditions (a) and (b) in 2.1 are satisfied. By the hypothesis  $B \xrightarrow{q} X \xrightarrow{p} F$  is a weak co- $T$ -cofibration and hence there exists a map  $\theta : X \rightarrow F \vee \Omega \Sigma X$  and a homotopy  $H_t : X \rightarrow F \times \Omega \Sigma X$  such that  $(1 \vee \Omega \Sigma q e')i_2 \sim \theta q : B \rightarrow F \times \Omega \Sigma X$ , where  $i_2$  is the injection into the second factor and  $H_0 = j\theta$  and  $H_1 = (p \times e')\Delta$  respectively, where  $j : F \vee X \rightarrow F \times X$  is the inclusion. First we consider a composite map  $\phi : X \xrightarrow{\theta} F \vee \Omega \Sigma X \xrightarrow{s \vee \Omega \Sigma i} C_{pf} \vee \Omega \Sigma C_f$ , where  $s$  and  $i$  are inclusion maps. Since  $\phi h i f \sim (s \vee \Omega \Sigma i)\theta f \sim (s \vee \Omega \Sigma i)(p f \vee \Omega \Sigma f)\mu = (s p f \vee \Omega \Sigma i f)\mu = (\bar{p} k \iota \vee \Omega \Sigma k \iota)\mu \sim *$  and  $\iota : Y \rightarrow cY$  is a cofibration, there exists a homotopy  $\omega_t : cY \rightarrow C_{pf} \vee \Omega \Sigma C_f$  such that  $\omega_1 \iota = (s \vee \Omega \Sigma i)\theta f$  and  $\omega_0 = *$ . Now we define a map  $\lambda : C_f \rightarrow C_{pf} \vee \Omega \Sigma C_f$  by  $\lambda(y, t) = \omega_1(y, t)$ ,  $(y, t) \in cY$ ,  $\lambda(x) = (s \vee \Omega \Sigma i)\theta(x)$ ,  $x \in X$ . Since  $\lambda(y, 1) = \omega_1(y, 1) = \omega_1 \iota(y) = (s \vee \Omega \Sigma i)\theta f(y) = \lambda(fy)$ ,  $\lambda$  is well defined. Next we consider the following homotopy commutative diagram;

$$\begin{array}{ccccc}
 & & X & \xrightarrow{\Delta} & X \times X \\
 & \swarrow & \downarrow & \swarrow & \downarrow \\
 & & F \vee \Omega \Sigma X & \xrightarrow{j} & F \times \Omega \Sigma X & \xrightarrow{i} & C_f & \xrightarrow{\Delta} & C_f \times C_f \\
 & \downarrow & \downarrow & \downarrow & \downarrow & \downarrow & \downarrow & \downarrow & \downarrow \\
 & & C_{pf} \vee \Omega \Sigma C_f & \xrightarrow{j} & C_{pf} \times \Omega \Sigma C_f & & & & & & C_{pf} \times C_f
 \end{array}$$

$\theta$  (top-left),  $p \times e'$  (top-right),  $i \times i$  (right),  $s \vee \Omega \Sigma i$  (left),  $s \times \Omega \Sigma i$  (middle-left),  $\lambda$  (bottom-left),  $\bar{p} \times e'$  (bottom-right)

Then  $j\lambda i = j(s \vee \Omega \Sigma i)\theta = (s \times \Omega \Sigma i)j\theta \sim (s \times \Omega \Sigma i)(p \times e')\Delta = (\bar{p} \times e')(i \times i)\Delta = (\bar{p} \times e')\Delta i$ . Since  $X \xrightarrow{i} C_f \xrightarrow{q} \Sigma Y$  is an induced cofibration [7], it follows from [6, Lemma 2.2] that there exists a map  $\omega : \Sigma Y \rightarrow C_{pf} \times \Omega \Sigma C_f$  such that  $\nabla(\omega \vee j\lambda)\psi \sim (\bar{p} \times e')\Delta$ , where  $\psi : C_f \rightarrow \Sigma Y \vee C_f$

is a cooperation in the induced cofibration  $X \xrightarrow{i} C_f \xrightarrow{q} \Sigma Y$ , that is,

$$\begin{array}{ccc} X & \xrightarrow{i_2} & \Sigma Y \vee X \\ i \downarrow & & (1 \vee i) \downarrow \\ C_f & \xrightarrow{\psi} & \Sigma Y \vee C_f \\ \downarrow & & \downarrow \\ \Sigma Y & \xrightarrow{\bar{\mu}} & \Sigma Y \vee \Sigma Y \end{array}$$

and  $\nabla : C_{pf} \times \Omega \Sigma C_f \vee C_{pf} \times \Omega \Sigma C_f \rightarrow C_{pf} \times \Omega \Sigma C_f$  is the folding map. Let

$$p_1 : C_{pf} \times \Omega \Sigma C_f \rightarrow C_{pf}, \quad p_2 : C_{pf} \times \Omega \Sigma C_f \rightarrow \Omega \Sigma C_f$$

be the projections and

$$\bar{\mu} : \Sigma Y \rightarrow \Sigma Y \vee \Sigma Y$$

the comultiplication for  $\Sigma Y$ . Then we have  $j(p_1\omega \vee p_2\omega)\bar{\mu} \sim (p_1\omega \times p_2\omega)\Delta = \omega$ . Let

$$\kappa = (p_1\omega \vee p_2\omega)\bar{\mu} : \Sigma Y \rightarrow C_{pf} \vee \Omega \Sigma C_f$$

and

$$\phi = \nabla(\kappa \vee \lambda)\psi : C_f \rightarrow C_{pf} \vee \Omega \Sigma C_f.$$

Then we have  $j\phi = j\nabla(\kappa \vee \lambda)\psi \sim \nabla(j\kappa \vee j\lambda)\psi \sim \nabla(\omega \vee \lambda)\psi \sim (\bar{p} \times e')\Delta : C_f \rightarrow C_{pf} \times \Omega \Sigma C_f$ . Thus the condition (b) in 2.1 holds. On the other hand, for each  $b \in B$ , we have  $\phi iq(b) = \nabla(\kappa \vee \lambda)\psi iq(b) \sim \nabla(\kappa \vee \lambda)(1 \vee i)i_2q(b) = \nabla(\kappa \vee \lambda)(1 \vee i)(*, iq(b)) \sim \lambda iq(b) = (s \vee \Omega \Sigma i)\theta(q(b)) \sim (s \vee \Omega \Sigma i)(1 \vee \Omega \Sigma qe')i_2(b) = (s \vee \Omega \Sigma(iq)e')(*, b) = (*, \Omega \Sigma(iq)e'(b)) = (1 \vee \Omega \Sigma(iq)e')i_2(b)$ . Thus the condition (a) in 2.1 holds.  $\square$

### References

- [1] J. Aguade, *Decomposable free loop spaces*, *Canad. J. Math.* **39** (1987), 938-955.
- [2] B. Eckmann and P. Hilton, *Decomposition homologique d'un polyedre simplement connexe*, *ibid*, **48** (1959), 2054-2558.
- [3] B. Eckmann and P. Hilton, *On the homology and homotopy decomposition of continuous maps*, *Proc. Nat. Acad. Sci. USA*, **45** (1959), 372-375.
- [4] P. Hilton, *Homotopy Theory and Duality*, Gordon and Breach Science Pub. 1965.
- [5] J. C. Moore, *Le theorem de Freudenthal, la suite exacte de James et l'invariant de Hopf generalise*, *Seminaire H. Cartan*, 1954-55.
- [6] K. Tsuchida, *Principal cofibration*, *Tohoku Math. J.* **16** (1964), 321-333.
- [7] K. Tsuchida, *The homology decomposition for a cofibration*, *Tohoku Math. J.* **17** (1965), 117-129.

- [8] M. H. Woo and Y. S. Yoon, *T-spaces by the Gottlieb groups and duality*, J. Austral. Math. Soc. (Series A), **59** (1995), 193-203.
- [9] Y. S. Yoon, *lifting T-structures and their duals*, J. Chungcheong Math. Soc. **20** (2007), no. 3, 245-259.

\*

Department of Mathematics Education  
Hannam University  
Daejeon 34430, Republic of Korea  
*E-mail*: yoon@hannam.ac.kr